G BUOYANCY TANK
CARLINE BLOCKS

15 x 35 mm

INSPECTION HATCH,
/ OPENING DIA. 100 mm

FORWARD DECK BEAM,
FOUR LAYERS OF 25 x 10 mm
GLUED OVER A MOULD

F BEFORE FASTENING, 4 mm

OF ADDITIONAL CAMBER
/TO SPRINGBACK

Q\.
N

HARDWOQD
DOWEL

o

MAST STEP

GUNWALE 15 x 35 mm

GUNWALE RUBBING STRIP 15 x 35 mm
HARDWOOD, FASTENED AFTER PAINTING THE HULL
WITH ONLY 5 x 35 mm SCREWS SPACED 250 mm
AND 100 mm AT ENDS

COCKPIT CARLINE

15 x 35 mm

CASE LOG 25 x 35 mm,
GLUED AND SCREWED TO
THE BOTTOM WITH 3.5 x 30 mm
SCREWS SPACED 50 mm

5 x 60 mm
SCREWS
STAGGERED
TO MISS

M

EACH OTHER

; CASE RAIL =\ © x 50 mm SCREW

SCREW
RAIL 25 x 35 mm

AFT DECK BEAM
15 x 35 mm \
\

100
—1
m /\
Lol
do 5
Iz 9
<=
aoF Z‘
< < o
Q=L o 2 20
N i o ol o /
0| < | <+ —
B ~
5
7.5
5—45
[ —
I —
18
Lol
oS
LZo

COPYRIGHT © RADOSLAW WERSZKO. ALL RIGHTS RESERVED

150 ‘

TOE STRAP PAD./
6 mm PLYWOOD

TOE STRAP

PLATE

1122 . 210

/f =
/ SIDE_FRAME

15 x 35 mm
BEVELLED
TO THE SIDE

1173 . 210

TEMPORARY

FRAME SPREADER KNEE,

CLAMPED TO 6 mm PLYWOOD

SIDE FRAMES
CARLINE BLOCK
15 x 35 mm
3.5 x 30 mm
SCREW

TRANSOM BEAM

15 x 35 mm

FITTED INTO THE SPAR,

GUDGEONS PAD,
6 mm PLYWOOQD,

1 mm GAP EACH SIDE

&
<
[
=
- S
r— — |/ — /"
MAST STEP
HARDWOOD
GLUED AND SCREWED
o TO THE BOTTOM WITH
i SIX 5 x 35 mm SCREWS

WIDTH 100 mm

S x 35 mm SCREWS

\

100

150
420 500 250

1300 950

STEM,
10 mm
PLYWOOD

él—T DECK BEARER

MAINSHEET EDGE EYES. HOLES DRILLED/
BEFORE FASTENING THE KEELSON

WITH 3.5 x 30 mm SCREWS SPACED 50 mm, THEN
TAPED OUTSIDE WITH RESIN AND MAT

MEDIUM SIZE CAM CLEAT
FOR THE MAINSHEET

CLEAT BLOCK 15 x 35 mm,
GLUED TO THE CARLINE,
LENGTH 200 mm

AFT KEELSON 35 x 35 mm BEVELLED TO THE BOTTOM
GLUED AND ALTERNATELY SCREWED TO BOTH PANELS

\FORWARD KEELSON 35 x 35 mm BEVELLED
TO THE BOTTOM, GLUED AND ALTERNATELY
SCREWED TO BOTH PANELS WITH 3.5 x 30 mm

SCREWS SPACED 50 mm, THEN TAPED
OUTSIDE WITH RESIN AND MAT

CASE SPACER
25 x 35 mm

ALL OTHER PLYWOOD TO TIMBER JOINTS GLUED
AND NAILED WITH 1.2 x 20 mm NAILS SPACED 50 mm

ALL PLYWOOD PADS AND STRIPS GLUED AND
NAILED WITH 1.2 x 13 mm_ NAILS SPACED 30 mm,
FILED IF GONE THROUGHOUT

ALL NAILS OF BRASS. ALL SCREWS OF BRASS
OR STAINLESS STEEL

AND ONE LAYER OF CHOPPED STRAND MAT EACH SIDE.

FOREDECK CLEAT
LENGTH 150 mm,
BOLTED WITH TEE NUTS
PLACED UNDERSIDE
BEFORE SETTING UP

X mm,
SITUATED ON PORT 5 x 60 mm SCREW 5 x 50 mm SCREW ALL PLYWOOD TO PLYWOOD JOINTS WITHOUT TIMBER,
SIDE ONLY B D \ FIRST STITCHED WITH 1-1.5 mm COPPER WIRE, THEN
700 700 700 TAPED BOTH SIDES WITH EPOXY OR POLYESTER RESIN
BUTT STRIP, L\
6 mm PLYWOQOD, —t MAT WEIGHT 450 g/mz. MAT STRIPS WIDTH 100 mm
WIDTH 100 mm i —
| _\
L
! 265
FOREDECK BEARER 35 x 25 mm,
0 LENGTH 650 mm
N
200
| \ = ~
e — ARy e— \
\\ | T 1l T—7 7 T 1A \\ : — = —
) Y 0 11— ] 1 iy 1 I
il———_\____l \ / N Lo ol — ] P — '
d
\TOE STRAP, WIDTH 50 mm I
TOE STRAP PLATE
NON—SLIP SURFACE STIPPLED DOWN WITH A BRUSH
TO THE LAYER OF EPOXY OR POLYESTER FILLER
THE DECK
STRIP_UNDERSIDE THE DECK, 10 mm PLYWOOD
WIDTH TAPERED FROM 125 mm TO 35 mm
| |
KICKING STRAP EYE PLATE
PAD UPPERSIDE THE DECK
6 mm PLYWOOD, DIAMETER 170 mm,
GLUED AND SCREWED WITH FOUR
5 x 35 mm SCREWS
2 . 1000 |
| |
}
STOCK BEAMS BUILDING STOCK
SCREWED OF LUMBER OR 22 mm PARTICLEBOARD
RESAWN INTO 125 mm AND 175 mm WIDE PANELS
3050
900 900 BOTTOM SET UP ON THE BUILDING STOCK
o N AND POSITIONED TO THE FORWARD END OF
) Pt 8 — THE DAGGERBOARD CASE SLOT, THEN TEMPORARILY
~ ~— FASTENED WITH FOUR SCREWS TO THE STOCK
E__ AMIDSHIP BEAMS
o T f / AFT AND FORWARD KEELSON MADE OF ONE PIECE

50

17.5

350

OF TIMBER NARROWED TO 25 mm IN THE DAGGERBOARD

\

400

CASE PLACE. PART ALONG THE CASE SLOT WRAPPED
WITH AN ADHESIVE TAPE TO PREVENT GLUING, THEN
%(H)ISP/I;Q?T REMOVED WHILE PREPARING THE HULL

/

165

H

ULL CONSTRUCTION

SHEET 35.3/5, SIZE A1
O SCALE 1:1, 1:10, 1:20

RADOSLAW WERSZKO
SEPTEMBER 2012




